JIVTvIRE
TR24F 28148 (K)~178 ()

[ VXA —REH ] (I BRESILT, SHEs ROV —a—R

PEEF 5 km 935VHIE BREBF C 5 km Y5V HLE

B 1| K £ B 2 A4 L B 1| K £ B 2 A4 L
1 WiE BE AR 16:13.6 1 hx &= AR 14:39.4
58 | &F ki 2 S 22:36.5 28 | FEH =— ~N4H 17:10.1
61 Fig BT AT 22:43.8 38 WHE EfE | 4TV 74 18:31.1
67 | SfE AE | BREMS 25:20.6 42 | BB - | BREIER 19:20.0
69 we B 2 S 27:41.9

BE%ZF B 5 km %9235YHILE ZFIJL— 4% 5 km (ZY—3F)

B fz] K Z B % AL E 2] K % B % 4L
1 f2eH &F Iz B IR 15:19.5 1 FaE 1:01:27.6
13 | ;5K BE [m=RAEREHHR 20590 18 THE 1:25:56.3

Fk ETE %bﬁtrfﬁﬁ 21:50.9

SF K#E LM 20:48.2

EK BE |F=aeREBHR| 19:546

HEFERF 10 km 2933 AHILE = e 2t = 23:22.5
B 4| K £ i B 2 4 L
1 EJNEPN | EHE 27:48.0 PLEBFYL— 4%x10 km (FVY—3E)
67 | BRI &KX BiEs 32:48.9
85 | HNEk ZE—ER RES 34:41.2 B | K % T & 2 4 A
9 | HKRK H=E RES 35:50.4 1 gl 1:50:31.5
101 | AT 2 KER E¥:1) 36:20.9 15 THE 2:15:13.5
108 | b8 Xt BiEs 37:00.5 ERIIIEX BES 32:00.4
— | A0 &t | BTXLES DS hnkE 3 — ER RS 33:41.4
JtEH K HES 35:17.6
EENEYNE %) 34:14.1
BEBF A 10 km 9352 HILFE
B | K £ i B 2 A4 L BREBFIJL— 4%X10 km (FVY—3E)
1 A& EH it B8 15 27:01.5
50 | £H Z=EN ~4H 32:08.9 B | K £ B 2 A4 L
51 | {RiE &hsE r42B8 32:10.0 1 Is; B2 12 1:45:16.0
67 | FHE #Mth | HEEX 35:29.0 22 EHR 2:10:57.2
£H = r42E 30:54.1
FEE 5h=E ~4H 32:29.5
BEBF B 10 km 95V HIFE B {EE EEIE 33:19.2
EH _# BHEX 34:14.4

IE | K % & 24 A

1 B FFE Iz B I8 27:01.6
37 | & #sE == 36:19.5
I4NYIR-

44 | EBE E— | a2 38:59.4




